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Dimensional formula for work done is

/ MLzT—2 . . B) ML—2T2

© ML'T® (D) MLT .

' Gmmwuﬁ]m-ummrraﬁ_r eumstur®
@ MLAT . ® MLPTH
© MLIT? - (O MLT?

An allotropé of carbon discovered by Richard Smalley et al.
(A)  Graphite _ ' (B) Diamond
M Fullerene ' . (D) Carbon black

Rgsi e, éimbrrsﬁl aiflefuanisd sar_Bibs smuaier LpGappeo QulgeuLd
(A) 30 TN - (B) e wear®

{(C) yoefar - o (D). 5@&14 ST

thich of the following is not a green house gas?
(A) - Water vapour . | M o
© Os . R D) Co:

G énau(mHel aTeuHPIST LISEMDGEO QUL SIONTSE) 6TEI?
(&) fomafl . _ ' B) O:
© 0s | D) CO:
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Name the network structure gives shape, strength and help in cell movement
{(A) Lysosomes (B) - Golgi bodies
(C) Endoplasmic reticulum y Cytoskeleton

Qeagée opdl. ag wipw Ced QAumEassT BSTHH c%],&]u.l uesflaener Gaiwd @@ Urs
Paepsarme) e @gen QLT erenes?

(A)  aGanGarbser (B) Ganmad 2 gyliser
(C) aamGLmlemns cuamersdr (D) e GLmllerng G@qum@

.Which among the following is exempted for consuming by a person in an optimum quant1ty‘7
(A) Salt : (B) Sugar
(C) Fat . @ Fibre

&passmLaJ;myat TS, gsﬁlq WHHEnay ;_mn o_amolle) BeCaun® arBgIEAsTeTaT Gmw@m? |
A) 2uyssm B)  sissey
(G Qangpiny : D) prissg

Turner syndrome is deplcted by '
Ay XY . - (B) XXY
© XYY ' M X0

Liresflen SlamrGrmb @eusurrgq BhssLLGEFDS. (1) L iremflen ggﬁmsgﬁq;&@m Cemig @meurrg
@hss B Heang.

(A) XY . , B) XXY

(C) XYY D Xo

Spermatogenesis is

Maturation of spermatogonia - (B) Maturation of oegon.ia _
(C) Maturation of epididymus - (D) - Maturation of seminiferous tubule
dv@ur'rmcl_rrGgaﬂer&duﬁdﬂugg ‘ S - _
(A) Ginur'rmGur(Sa;rre«ﬂan gl g (B) oaGasraflur gpdHisdwent g

(C)  enfigigioen apdliefluenL g D) QefefGurev G apdisduame s B
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10.

1L

1

8. Pe was the 1027 Indian Science congress was held?

Mumbai ' _ " (B) New Delhi
(C) Ahmedabad ' (D) Bengaluru

102 cugy @‘r_ﬁ,ﬂm agﬂeﬁuw u:rr;_r,rr@ TR ‘rf,ma_Gugp,r_r)@? :
A) b o 3 _ E (B) uys QL@JG\S]
€) sawgmuns . (D) Quraesm

The Indian actor, who received France’s Chevalier award in 2016 is
(A) Rajini Kanth (B) Sivaji Ganesan

- (©)  Amitabh Bachchan &% Kamal Haasan

si5ugAe (2016) Symenetien QeaunedGul o 1z Aubp GBI pig 5T ———— ayaurt
A) el anps - - (B Sarf) sCawsen
©C) egmiulsen - D EDOQDTEE

March 9, 2015-July 26, 2016 is a record journey time of one of the following. Identify its
name. ' : . ' ‘ , _
(A) AG600 8 . K Solar Impulse 2

.(C) - JUNO : (D) Sky Bender

Sereumeasereuh e gm@aﬂg atn’,sa)e;ru UwemsETOLne 9, wnrs 2015 s 26, &960)@ 2016
ammianar srob elermiGApng. siger Quuiienend seirti .

(A AG600 - ' ‘B) CGsrem @mumsiu 2
(C) JUNO - D) evens Quen.it

Who was appointed as the first Vlce—Chau'man of ITI Aayog? L
(A)  Ashok Gulati - Arvind Panagariya
(C)  Subramaniyam Swamy D) Y.V.Reddy

NITI Q.@,Gu.l &6 PS> FieTS SIS BILLBSELILN-L Uit Wi
(A) aq(z#mi; Gond ' - (B) el unenmafum
©) supoeflub sams O YV.Qrg
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12.  In Sep 2016, India has officially declared itself free from
(A) Dengue Fever B) Yaws
M Avian Influenza ' _ D) Polio

@etiLbui  2016-6, @pHur  @HSmpE  puewwurs  AEUCRLFTE  FramaGe

SH ST TS a@a&\ggeﬁm@
A) QL@ aiiésd B wne
©) geflwen Geni@puenan (D) GurdiGur

13.  Identify the joint military exercise(s) of India among the following
I Drughba- 2016 | |
II.  Yudh- Abhyas - 2016
III. Indra- 2016
(A) IandIlonly

®B) Tonly
I and III only

y II and JII only

Qéneu(meuaTaidmET, @;B,Qurrcﬁmg; Bememt @rraeu LGHE/ LG pAsemens 5@1.;515
I. - Druzhba - 2016 (gmegur - 2016)

I Yudh- Abhyas - 2016 (up-siiweh - 2016)

I Indra - 2016 (@S - 2016)

@) Twppd I ol Gb

®B) Iwipw

(© 1 wpgd ol Gid

®@) 11 wpg II v Gib .
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14.

15,

is the most important amongest the Indian breeds of buffaloes

(A Bhadawari 1 g#® Murrah

(C). Mehsz_ara ' . ~ (D) Surti

;@'rbﬁmrraﬂ@w@u.l _ GI'Q";UD ) @%mb g il &méﬁld) Gpé;eﬁu&g]aﬁ»
UMUBES! - | | :

(A) um_rr.m:rlrﬁ ' B) Q,or'rr,rrr'

© Qe - o sh

Chemically formed sedimentary Rocks are .
(A) Limestone . @B) Clay -

W Gypsum , o D) Bagalt

16. '

1l

Cardulued wpanpLliviyg  WANTAT LITem U eyser -
(A) | sereTIbLIES® (B) st wer

© gosns . | ' (D);as@‘rél&d)

"The _averaée depth of the world oceans

(A) 3890 meters : (B) . 3700 meters
(C) 3899 meters - o ﬂ' 6000 meters

2 wdlé 2 drar GuymPaaflen snref gy

(A) 3890 Bl iger ' : (B) 3700 S iraer - ' )

(C) 3899 S iger ' D) 6000 S L iser
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17. - The re1gn of Shah J ahan is regarded as the Golden Age of Mughals because of
(A)  Economic prosperity
(B) Religious Toleration

(C) g Construction of Taj Mahal
/ Development of Mughal Art and Architecture .

egrgaprefen g Aésran gaemuirsaiar QurhsTawns s@gﬂﬁ@aﬂg}g gQanenpred
(A) Qurr@arrrprru Qapento - ‘ '

B sowsbloyg §dmmb

(C) srRLapTe® Sl g

(D) psomU HM, SLigL & S WPaCaHPLD

18.  Against whom did Shivaji launch his initial campaigns
" (A) The ruler of Bejapur
(B) The Mughal emperor
(C)  The ruler of Ahmadnagar
W The heriditary owner of forts and local officers of Bejapur

Saung sang) pse UL QwBLiysener wirt Bg CrohGarammiv
A)  GguyfT e '
(B) Qursemw Gupyst
O,  swLE paET IS .
¢))] ﬁlauwr Ms@LuLL mgﬁl e uﬂmwu.mam&aﬂm (Ssm_mi_mmum oppD g
aqua}aﬂqm . .

19. Where did the English set up their first factory of trading depot i in Ind.la
" (A) Bombay . (B) Madras |
(C) Hughli =~ ,aar Surat

@pﬂm refiléd cg,maﬂ@wm ermaih_.g;@a) HRIGETH PSS mrrgg& snepeden ﬁgsﬁ]am
(A) ubuml : (B) Qseneaen

(©)  aooiel o O @b
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20.

21

292, -

Mother Therasa belonged to which country?
A) England - _ _ ' - B) Germany

- (C) Rumenia - - ' % Yugosl_avia

- SBlenene GFTeVT GTHS HTLenL.& G&ﬁ;’a@z‘r? X

A @uderpy ) (B) Qgiwed
©€) @Oweallur o M) yGarcvGaeium

Who has described elections as the heart of democracy? |
(A) James Bryce ﬂf ‘Joseph Séhumpeter ,
(C). Abraham Lincoln (D) Woodrow Wilson

wiserm Aulier Gguib Cursnpg Cairge erar sadiieuit wimi?
(&)  Cgivev Qared. | . (B) Ggreu sabSLT
©) Qramd Skiser ~ (D) . 2 " Gy eflébaes

b

Which one of the following statement is not correctly matched?

(A) Article 53 - deals with ihe Executive Authority of Pre,sidenf

(B) Article 54 - deals with'the Election of the President |
S Article 55 = deals with the qualification of the Presidenf |

(D) Article 56 — deals with Term and RemovalA of the President

GetaumaiaTab e apg cursSuid sauprs QamenrssiuHdTag) eg? -

@) 853 — gemAuSiter fians sifsmmd Upd mpBpE

®) f-54 — gamBus CaipAsGEsILEDL geop LpPlus

© P55 - gamBufssrer sofadiupd mpdps |
(D) «id-56 - gmnﬁuﬁhﬁlw ugefls sreld HmIb LF6 aﬂé_oasé; LDl
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23.  The Maritime Jurisdiction of our country was laid down in the

M 40th A.mendment

B)

©

D)

41 Amendment
42v¢ Amendment

43rd Amendment

BLg .mrn.'.tq.c'o.r. SLASTTHES S ETT euFdIYenar 2 mmeursHwig)

A
®
©

®

40-eug sirflueanolil) HmssLo '
41-aug sipfluemoliy Hmsso
42-aug) sirflueentoliy ﬁww :

43-61.1@1 Sirflweenniy Hmssn

-

24.  Justice Sachar Committee was appointed to make recommendations for the welfare of

M economicé.]ly and educationally backward sections among the minorities

(B) backward communities
©) women |
(D) transgenders
EBuB senit 59 Pyl g
“(A) Spurenawlanfiey saps uS;bng se’osﬁ Ffluns Qengiducrar -méses@.’ssrraf BTG
ufipger Gsww |
| B) N\azmdu sppssHemasnar g_r,mésr;swm ulﬂ‘qﬁg@u Qaliw
.(C.) Quenrsefler poversensstear Lflbgersamear GupQsrarer
(D) aparpmd urelatggsaumesmen ;gwdrsa)a; uftbgienty QJU‘.'ILLI
ADGS/17 10 =



25.

26.

s

Match the coalition governments in Column A with their Prime Ministers in Column B.

National Democratic Alliance -

United Progressive Alliance

Column A
(a) National Front
(b) United Front
@©
(d)

@ O
A 2 -4
& 2 1
© 3 1
D 1 3

()

[ S T N

(d)

N W W

e

Column B
"~ Deve Gowda
V.P. Singh _
Dr. Manmohan Sin'gh
A.B. Vajpayee

LEH -6 2_crer st L_ewf ausméquréus@l_dr uGH Q{,—sﬁlé) o grar Qygw wiHRamer AurpSgs.

(a)

®)

(©

@

(A)
(B)
©

)

LEd i
Gsélw apenenent]
gpadlu aperanent]

Csdlw gampmusd gl L exfl

B&d pHGUTES salLanfl

@ . ®
4

1
1
3

e W NN

[\ T -G N

(c)

(D

NN W W

W

LGS 2

Cgpeu seyLm -

ofl.4. A |
Dr. wenGuraen S
A.B. aungguim

Either House of the Parliament is authorised to declare the seat of a member vacant, who
remains absent without permission from all the meetings of that House for a period of

S Sixty days -

" One hundred and twenty days

'(B) Ninety days
(D) Six weeks

\

DrrL.&im/esrrsom @ e_guulﬁlarrr Sigiwd @aﬂ;ﬂ asa);r;g] Qamatemmiod Q@HETD AHS

QL sas a;rraSluSLLo eTesTmy @r;sm@ @;mms@m SiMieigaemd.

@)

- (©)

SIMUG! BT ST

EIOM @mUE Brlser

(B) Qg,rrarr@ng] g_r;n’u;;m
D) <y eunprsser
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27.  Planning Commission was set up in the year

P 1950 ®) 1947

_(C) ' 1955 | D) 1958
Sl Lagwp fpeilut syeir® . . . |
(A) 1950 ’ (B) 1947
(© 1955 | - D) 1958

>

~ 28. Which Bank was called Imperial Bank?
- @ State Bank of India

(B) Reserve Bank of India

(C) Bank of India

(D) Indian Bank

BoSHue amid erény Denpssint L ekl erg?
@)  ums oGLL Gk ‘
B)  Aaires Lnmité g0 PHHwum

©  ULmhs oy @pSun

®  @ppudn aid

29, Second Five Year Plan was formulated based on the model.
yf Mahalanobis B) Rudra

(CO) Myrdal ‘ . (D) AK Sen.

- Rrasr_neug pigran( L Sos o meunsdweut
(A) - QuwseGammen 3 ‘ -(B) ST
(C) S md SR (D) AK. Qser

ADGS/17 - 2



30." Point out the incorrect statement about Rajaram Mohan Roy.

31.

1t

(A)

B)

He was given the title of Raja in 1831

He wrote a pamphlet in Bengali against idol worship

W ‘Go back to Vedas’_ was his slogan

D)

@
®)
©

()

He died at Bristol in 1833

 grggmymib Comsen gmis Lpdhu Seumrer QUTEESMS &L ig.& STL_LALD.

18316 Dieuqhis TTET eremn UL L ib GUPRISLILIL L g

. oo m@ﬁnLq;b@ ér@qﬁa; aurisrer Qumuié gewmn_Héms erpBlenniv

Caugssisd HHOYRISET TG DiQUTSH UTSSID

1833-a WflevLafld bt

Among the following who was known as the ‘Political Sage’? -

(A)

W.C. Banerjee

@( Justice Ranade

- (C)..

D)

| Gopala Krishna Gokhale

Balagéngadhar Tilak

&Gy Q&n@i&ﬂdL@éTmmfrs@ér 'awé]u_'zd) apefleur eremp SIHWLILL Lari wimi?

4

(B)

©)
O

W.C. unenirgl)
ggeiuu].eh); TreGL

Canure Smesearr GaraGea

LITQSBISTST St

3 . ADGSN7
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32.

33.

34.

Who embraced the gallows with the slogan “I wish the downfall of the British Empire™?
(A) Bhagat Singh . (B) Lalalajpat Rai
(C) Roshanlal 7 Ramprasad Bismil

“QAC ey sigen eSpsflaowiGu pren  ellgrbuydGper sratm QREssgs_en FréGCwenL W

sepefhuaui wmi? :
(A) usgsi _ | (B) wroregud ymi
(Cj (Burréqudre)rrd) | D) ogroSyers Gevlid

Who among the following freedom ﬁghter participated in the Vedaranyam March of Ra)ajx
and then arrested and nnpnsoned for one year?

(A) Dr. Muthulakshml _ M Mrs. Rukmini Lakahmpath:
(C) Mrs. Sarojini Naidu (D) Mrs. Annie Beasant

Spar@mueuisaiio urrgrr@uﬁl&in Caigmpesnud wrsdentd sopy Astar® sy GeUWOULEH-
grmen® srawn Hap searL_men cHlHEst uCL Quer el Pgee]: Gumprefl wimi?

A)  wEEsaIT. WHEOL S B Howd. psded olsdug
©) Bmwd. sCrrgefl pry® D) Amwd. seraf@usdr
£A-8_C then a:B:C is
3 4 b ‘ ‘ .
w 3:4:5 o o B 2:4:6
C 1:3:5 , D) 2:4:8
%=§=%aaﬂc‘o A:B:b-—e‘nmﬁﬁq ’
(A) 3:4:5 o B) 2:4:6

(C© 1:3:5 : - (D) 2:4:8

- ADGSNT 14 - - F



35. Find the wrong number in the series
_ 381524344863
@ 8 o ®)

63

Y 2 o

Slewreupo Agm_did o Grenm SEUDITET CTERTENGRT G,srreq Qsiis

3, 8, 15, 24, 34, 48,63 : B
@ 8 - ®
© 3 - D

63
3

36. 5 pencils and 4 erasers cost T 13 whereas 9 pencﬂs and 5 erasers cost T 19 then the price of

-6 pencils and 3 erasers 13

@ 9 o - pY 1z

© 15 D T8

gbg werGsmd wppd prang Sifitureler sl T 13 5Cs Gurd Gemug Qr@yGETD wpgd

g SsiftiLirefar eflene T 19 erafler gy auanyCand wHEID apany Syfiurelen e erenan?

) o . ®)
© 15 I ®)

37.  88% of 370+24% of 210-? =118 |
@ a2 S ®

@ w8 - ®)

370~ 8% + 210 24% — 7 = 118 -

@A) 412 N - ®)

- © 258 )
= | L TS

T12
T18

36
327

36

327

- ADGS/17
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38. 5 o8 o 4 e

52_3=--7=1
6 9
11 | 17
. (A_) T | o s
13 9
©.. 6 D)- 0
5238 0.1
Y6 9 | |
11 17
A) = | =L
T = - ® 15
18 - | Ny 3
© 3 | ® 3

39. | Two numbers are in the ratio‘ 1:2. If 7 is added to both their ratio changes to 3:5 then the.
greatest number is ' : o
A 17 ' B 12

»r s D 36

Q@ aensafian Hfph 1:2 Qe eTaTEEnLeT - s amé eifgorang 3:5 eren wﬁgtﬂmg

eraflés @pen Bsn@uiflu eres
Aa 17 : B 12

(C) 28 ' ' @) 36

40. If2A4=3B=4C then A:B:C is
A 1:2:3 : , B 2:3:4

6:4:3 | D) 4:5:2
oo

94 =3B =4C el A:B:C —én O
A 1:2:3 ' : B) 2:3:4
(C) 6:4:3 ' D) 4:5:2



41.

42.

43.

| Take the odd nian out

'3,5,9,11, 14, 17, 21

21 ' | ® 17

4) |
& 14 | . @ 30

Gemau(mib éﬁﬁmsu&]&}aﬂﬁutu craimenanr Gairey Qsiss
3,59 11, 14,17, 21 |

@ 21 - | ® 17
© 14 S . D) 30

A square and an eqmlateral triangle have equal perimeter. If the diagonal of the square is
12v2 cm, then the area of the triangle is

/64«/§¢m2 | (B 60V2em?
©  50V5 cm? ‘ (D) 58J3cm?

') ag;rf(y)u) S0 S0 UsEs @os@srrmqpm @Gy spparay Gsncun_a)m sgu,s@m @a)a) el tb

1242 Q.8 el sioués paCamamsBen Lpiy

(A) 64V3 Qa5 | | ®) 60V2 Qa8
© 50V5 Qeis’ g D) 583 Qe

What is the volume of a cube whose diagon#l meaém‘e is 4V3 c.m?

(A 16 | (B) 22

© 1 - e

443 Qa8 apenaeilt b QAsreiT Gy s FBITEHeN s SieTey
@) 16 I . ® 22
© 19 o D) 64

17 . - ADGS/N17
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44.

45.

46.

- What will be the difference between simple and compound interest at 10% per annum and -
" sum of Rs. 1,000 after 4 years '

(A) Rs.58.95 | M Rs. 64.10

(C© Rs. 7217 o (D) Rs.55.40 -

. 1,000 &g aemBEE 10% ety sipb 4 apLisd sdbs doLseh 5ol alnieb S
QUL EGW ester CapLr® _

@A) ©.5895 - B) .64.10

© 7217 | D) 5540

The ratio of two numbers is 5 : 6 and their LCM is 480, then their HCF is

@ 20 - e

€ 6 . D) 5

B cainsaficn HABD 5 : 6 P aupdier 5.8.1 480 eralds iciGacnsaiar B Gur.q erénLig
@ 20 | ®) 16 |
© 6 s

The LCM of two numbers is 48. The numbers are in the ratio 2:3. Then the sum of the
numbers is

(a) 28 . ®) 32 | S
& w© o ® 64

B cramrsefian 8.8.10 48 LHHD SiuQauasaier Afguw 2.:3 ereflled Bicuehl(s sramaaficn sBad
A 28 o B) 32 _.

© 40 | @) 64 R '

ADGSNT 18 | | =



47.

48.

49.

In which year and place unitéd nations convened a meetmg to address ozone depletion?
M Montreal, 1987 - o " B) Kyoto, 1987
(C)  Montreal, 2000 (D) New York, 2012
ThE @Lﬁ@m THS 2j,aTIg.D gaséhu jbrr@m ganu @G&rran iy uh e&]surr@s& Sl b gHur®
. Gsu,ﬂ@pﬁg?
@A) e fue, 1987 (B) &Gumi Gl 1987
(C) wren Aud, 2000 - D) Puyuris, 2012
A computer program that confains ekpertise in a particular domain is called an
(A) Automatic processor - (B) Intelligent planner
W Expert system - o (D) Operational symibolizer
e®m GHLALL gienpulen sefsserann aumips Rroseier Qgrauy
(A) srGar QuiEb Aswesd | By penerfey gpurh | .
C) wogph weapan o (D) | BL_qpann Senenisar B
A oommumcatlon device that combines transmissions from several I/O devwes into one hne
isa. _ | _ : .
(A) Concentrator o - B) Modiﬁ_er |
y Mulnplexer o (D) Full duplex line
uaJGeug o_a'rer'ﬁ_@/ Qauefiui’ G errgarrﬂmﬂm uquqmm g(gmﬂmmrw @@ 5|_§ﬁm WIHIID (6
pEUD QgL sTgemd
(A) Osgﬁlm Qmpa) . | ' “(B) HmsHuewing
(©) Breip 5L o (:emu-sn - D ouScswssb
19 o ADGSAT
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. 50. The phenomenon of nuclear fission can be understood ori the basis of

| / Liquid drop model of the nucleus
.(B) Shell model of the nucleus

(C) Independent particle model of the nucleus

(D).. Meson theory of nuclear forces

a@m&@ Gerefleen arpg SigHsam wrfliious Qare(®d LRpg QemaTaTeomd
@A) DI GAEET Qumg giafl orBfl B) em@imqg ah@ mrrﬁl’ﬂ
©) sigssn pafiggsar wrHf (1)} a@ne;&@ emssaficn Guoarer Aandreans

51.  The refractive index of glass is least for

M red colour : - (B) yellow colour
© - violet colour ' (D) green colour

SpaaTLeupmar aTpS lﬂmgﬁﬁ)@ SeamaRTiTia.uf bt @aﬂeﬁiw&é) GTERT @MDY
@A)  Hay Hpd ) B wepsar fipd
©) 2N Bmd . .(_D) uses P

52. Which one of the following planets have no satellite?

M Venus o . (B) Mars

(C)  Jupiter (D) Uranus

Epsam_aupgrer gomens Gamer Gawrg Ersd arg?

(A)  oSemeid S B) Qo
(O Swmpen | D) wCremevs ‘
ADGSN7 .. . 20



53.

54.

55.

n

Which one of the following is a thermosetting polymer?
P Bakelite : | B) Nylon 6,6
(C) Polyethylene o (D) Terylene

SpseT_QDOIET T Qe Qeui:ugi;@rrsb @ensT LUK HGW-
(A) CuéameL_ ' . (B) eperant, 6
(O unell erggleSen : D) Oriredlew

Tonoplast is a membrane around

(&) - Cytoplasm - . & Vacuole .
(0)  Mitochondria | @) Nucleus
CurGanmiiammevL_ eTeLIg GphS FeueuT@GLD.

(A) @& CLmiamsn ‘ B) CasgGurd
'(C) - el GLmsreT_Mwm - ‘ (D) u;a;@

In plants the sequence of reactions in respn'atmn prooess 18
(A) Kreb’s cycle, oxldatmn of pyruvic acid, glycolysw, electron transport cham
(B)  Glycolysis, oxidation of pyruvic acid, electron transport cham, kreb’s cycle

'(C)  Glycolysis, electron transport chain, kreb’s cycle, oxidation of pyruvic acid
: % Glycolysis, oxidation of py_rﬁvieacid, kijeb’s. cycle, electron transport chain

greaughisafiid seurns Papefien afass ﬂummrrmg;

(A)  AQu spHé), eLmeils sl 2 EelRGanpod, ﬁwm&&neﬂa&m credLiyreit 5L_.§§6\) shflel -
(B). aﬂmm&a&mﬂa&w eumeils idlew .@&a&g@mmmm sm)su;war a;l_g;,so.) s, Q@o’u apmﬂ
(C) Aeardsreilafien, cro.wsl_urtral sLsze sndd, 8A70 spné, mugeﬁs .squSla) Mg@mmmm
@O ﬂmm&&n@ﬂa&w. a)u(r_r,aﬁlas sfe sainCappd, HAT0 s, s grer &L §50 sindlad

21 | - ADGS/17
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56. The process of productlon of white blood cells.
(A) Erythropoiesis _ P/ Leuoopmesm
(C) Neutropenia {D) Thrombocytopenia

Buss Qeudrenar Sggr&sd o (HauTsid |
@A) afpCprumdeddo B) SysCarumiadion
C) Py’ Comefwr . M) gcthcurrml‘_cl_mﬁlaﬂﬁ.m

§7. Widal teat is used for .
(A) Malaria & Typhoid .
(C) Cholera ‘ (D) Yellow fever

aaLnd Crrgman, Spsaw_ g Gﬁnanu sam_lus uweuBHepgy .

(A) wCeoflur - (B) sn;i.:rru‘.:@ 4
(O sragr | | ) LDEHEET g opiD

58. Name the Indian Navy’s Advanoed guided missile destroyer slup launched: in Mumbai

Sep’ 2016. . _
(&) INS Rajput (®) INS Chennai
(C) Vikrant ' M Mormugao

@pﬂu.l sLpumLISd Qs 2016 & poaudles HasdmaussiiulL gasmansmar éi@&@fn
QOO o drer suudler QUi STUPSQLD.

(A) INSgmgus - (B) INS Qsenenan
©) dsmmps o D) -LO‘I'bLOGS"SI.I“
ADGSNT | 2 &



59.

60.

. 6L

62.

What is thé name of Indian parliament? .
(A) . Riksdag ' ' ~ (B) Congress
Sansad : - - * (D) Rashtriya Panchayat

QpHu LMyT@BEDESe Quuit orénan?

A)  Nacvgs S B s
(C) sameung . Ny D)  prepAw LgsETWS
The duration of the National Anthem is approximﬁtely seconds
@A) 42 . Prse
(© 62 ' _ D) 64
Caélu S5 UTHUSDHS a@gg;& Qsrérar Geueiriqwl (Emmn ST ' eApmg Senm@id
A) 42 o B) 52 ' o

© 62 ' | (D) 64

The Juvenile Justice Act was passed in the Rajya Sabha on
227¢ December 2015 -~ (B) 220 January 2016
(C) 26 November 2015 | . (D) 5% January 2016

emd Agyeurt ﬁﬁwl_t..m prgw sLNele ;ﬁlmgp@mmmuuu_g

(A} 22 gm0 2015 . ®) 22gee 2016
(C) 26 paubLiir 2015 D) 5gaail 2016

The GDP growth of India for the financial year 2015-16 is

(A 80% & 1.6%
(O 12% - | ®) 7.9%

2015-16 b B gy emg pamer @p@mnsﬁ]m GDP aaiEd Qg
A 80% (B) 7.6%

‘ © 7.2% . D) 7.9%

23 : o ADGSNT
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63.

64.

65.

ADGS/N7 | 24

" The first island district of India as on September 2016 is

(A) - Port Blair, Andaman and Nicobar Islands

' Majuli, Assam

(C)  Kavaratti, Lakshadweep and Minicoy Islands
(D) Silvassa, Diu and Daman Islands .

Qaci_ibuit 2016 Qe Beoauriuig, BsdHureier apsa Say R b @g}
A) - Gumil uGemr D|BSDTET LODHENLD ;ﬂa;Ga;n'u it Seyser

(B) . 1oggoed, DiGVaVTD a

© sy, oL s5el Hmb Wlefdasmi ,5@4&6"

(D) Adeuren, Luy wHDID Linex Sayzer

The first railway line in India was laid between and

(A) Dharwar and Kalyan J{ Thane and Kalyan

(C) Dadar and Kalyan (D) Bombay and Kalyan

@m@wrrsﬁla) g Wwsdld Gruio @@uq uneng —— — &@LD ~ -
&@Ww PenL Cw GumLiulLg ‘ - '

(A) g HID SDwImeRT B)  grCer b sdwImT

(C)  sugT LHPD SDWITET (D)  ubUM WHYD SeUTET

% percentage of the country’s total coal is derived ﬁ'om the valley of
Damodar and son in Bihar

(A) 90% X ' B) 97.6%

' P % | D) 97.5%

prinenr Qurss Bessh o pusHula % Assr® Ssrhd o drer FrLRST
pmd Cener Listargsrsdelmbs) flens8pg) S : -

(A)  90% flasm® ' B) 97.6% @@ﬁﬂ@ _

G 9% Apasnr® . _ D) 97.5% gpsan® : -

.



66. .The India’s highest annual rainfall is reported at
(A) Namchi, Sikkim | (B) Churu - Rajasthan
M Mawsynram - Meghalaya (D) Chamba - Himachal Pradesh

. @;s@ﬁ,:rreﬁld) sifls wenlp Qumfle ufleuren @b

A) pof - Azdod (B 5@ - @rrgevgren
(C) Quearflényrd - Guareowr ' _(D) ﬂbuﬂ-g[ﬁlmﬂ&g\)tﬁlq(%gﬂb

67. . Match List I with Ijét II correctly and select answer :

ListI ListII
(a) Karikalan 1. Ceylonruler
(b) Chenguttuvan 2. - Pandya ruler
(© Nedunéhezhiyanl 3. " Chola ruler
' 4. Chera ruler

(d) Kayavahu

@ ® © @

s 4 2 1
® 4 1 2 3
© 3 1 2z 4
™ 3 4 1 2

Ll qud 1 gulqué II e dr Quigss sflure e eow Coibs6
ulgwel o uigwedll
(a)  sfAasneen HGemen oyt Huwimemt

| - (b) QshugrBeuen LImeBTig U1 Rp Sl imemi

ol

© Cp@@@&@uéﬂ_ Camp <y Hwirers
(d) sweaurg . Gay ,g,l‘_.ﬂmrrmr'r
() ®) @ - @
A 3 4 2 1
B 4 12 3
© 3 12 4
D)3 4 1 2
= ) R - 25 | | | ADGSNT

- [Turn over



68. The battle of Talaikota took piace on
(A) 27 October 1565
(B) ' 12t2 December 1565

M 23 January 1565
(D) 13% June 1565

geoes GameL i Guri ———— perL Quppg!
B) 27, S&CLmT 1565 |
(B) 12, qabuit 1565

(C) 23, gemaul 1565

M) 13, goen 1565

69. The Newspaper published by the Arya Samaj was

(A) Arya Samaj ' ﬂ' Arya Prakash
() New India (D) Satyartha Prakash

< fu songsHen Qauafb L s usHhms ,
A  fu émn‘&tb ‘ B) fu Qgareay
© Py@phur - (D) spBumig Sysney

70.  Kathakali is a famous dance in the state of
- (A) Tamil Nadu (B) Karnataka
(©) Andhra Pradesh 57 Kerala

spéisall pLamb G orheosHo Ao Guppg

(A) slppr® A B) aiprian
© abPrdGpes . (@) Gepaw

5 A_DGSII'? . 26



71.. The second Jain council was held at

(A) Pataliputra

(B) Rajagriha
pf Valabhi
(D) Vaishali

@rew_reug) et SIDWE Sl b perAUHp Gitb

A)  um dlyshtr
®  prgéifar
© aoad

D) eusnd

72.  The Vice-President, who resigned from his 6ﬂice, for assuming the President office was
4 VV.Giri | - | |
(B) Fakruddin Ali Ahmed
(C) Neelam Sanjiva Reddy
©) S.Radhakrishnan

. BRUTs mémff élga.imsgmﬁ' TDDE QETETUFHETS SDPOLI SRS GRS S
| upd.ﬂéu.x @qn@mnbn Q&lf_lgéur'r | ' |
@ Al 8n |
B) g&@,@é‘l el almgj
© B sgbas Quiy
| D) erev. @uugrdheipenten

s - - 27 | - ADGSA7
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73.  Which one of the following communities was grahted minority status across India in
January 2014?

(A) Parsis ﬂ( ‘Jains

(C) Buddhists (D) Transgenders

| Geireupaueauppyer amauﬂ 2014 .yarg JOTTA, @@mma@mm élyurrarwmu&iam aubgsmg
QUPRISILLL sQPELD eTH?

_(A) unrééser . _ (B) HRETHET
©  ugswEsBent @)  apsnpmbd Lreenpgeui

74. How many national parties contested in the 16t General Elections?

@ 5 V- &

© 7 - D) 4

16-aug Qungs Coirgelier eiggamen Coflw s Aser Cum ul L ar?
A 5 B) 6

© 17 D) 4

75.  Which is the constltutnonal authority that has been responsible for constltut:mg the Finance
Commission penodlcally"

(A)  Public Accounts Committee
(B) Parliament of India
M President of India - .
(D) Comptroller and Auditor General of India
@;ﬂutﬁll_l_ &ne Go Qe B Qbmu_lm SiepwULSHEG SiPsTnd QU STHueeoiy
aﬁsrmmwuq aH? .
(A) Qury sewsE G
B) @BHu umyrEpLEPL -
© @pfu@yurs gooai ,
D) pHu gmemid saarsE saflsmauirert

'ADGSN7 | - 28 : o =



- 76.

77.

78

In which year the Election Comrmssmn issued the electxon lymbols order under wh1ch
political parties had to register themselves with the commission?

(A) 1952 : : | ﬂ( 1968

©) - 1971 : - D) 1989

.amﬂu_le) s Hger ,sréua;erﬂsiﬁ &4 SAenenid ng’u‘ri.nrrs Ggirged ayoamusdn Ldey Qauﬁg Qserer
 Gauainrid eremugy Gpm_iuren, “GCpiged Hemen :Lﬁueﬁlmar” abs B Csigd %@WUJLD

NpUIS58:? _ _
A 1952 o | (B) 1968

- © 119711 _ _ D) 1989

The new agricultural technology was tried as a pilot project and was called as
(A) Integrated Rural Development Programme [IRDP] '

(B) Integrated District Development Programme [IDDP]

(C) Intensive Agncultural Development Programme [IADP]

y Intensive Agricultural District Programme [IADP}

: qﬁu cfleusmu Qzmfle) [ LISMS G (ymrr(gamq. @L.I_Lorrs pmn_@pmmu@ﬁﬁm LOHIID almmgﬂm

GTEUGUMIY DIEMLPLILIIT?
Q) emrdeanps Aymoiyp eerisf HLibd

B) porimenhs wralL. aeniss S ib

© b5 Aausmi aiemsd Sl b S L
M)  phe assmu et S ib '

Which plan had set the correct goal in the form of movmg “Towards faster and more
inclusive growth”? A

(A) 10*plan - (B) 9%plan

V 11t plan - | (D) 12t plan \

aps HLsHd Q;sm_rrpgl qpm@mgm,wsrrm shwinar (Z;mrssgmg Jﬂﬂmnﬁlg,sar “eﬁ]mumrrar
auarisfemu Crréd wHHID HHE 2 drer_sHlw eeriss”

Ay 10-aug HLib | B) S-agmniflin
© 1Ml-agd Lo : o D) 12-ay Hlew

29 | : "~ ADGS/7
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79. .

81.

The Union Government is planning to launch Rashtriya Awskar Abhiyan to create
awareness among the students in

(A) Classic music
(B) - Ancient history
(C) Science and arts

” Science and mathematics

wiHu srfler ‘pradl i %eﬂaqsrm aufﬂumn Lnrrwmrrs@a;@ ThHE CUME sﬁ]@uuﬁmwwu

e manss Qe Herer AL brEn?

(A ysp sren @ens
B) GCgnenenio augampy

- (C) sfieflud wHpb soe
D) ofeilw whmb safigb

t

. Wthh district has the hlghest per caplta income in Tamil Nadu in 20 10-11?7

(A) Coimbatore ' B) Chennax
(C) Tanjavur. o Kannyakumari

FIPHT 1.0 eTfb e Lib 2010-11-6 Sifls SO umRITLEPL W DI DTED? |
(A) G&nrtuu.buggm'r B) Qsaamenr
(C) sepsmyir D) aaaflungwof

-What is the rankmg of nuclear power among the various sources of electricity in India in

2013-14?
(A) Third & Fourth

(C) - Fifth : A (D) Sixth

@pﬁmn@&lm 2013-14 DD 26T 6 SR DD LDCauy Wilaamy .-_Q;,grrr;rmesaﬁm Qupm grwo smﬂa)s
erevest? :

A weap | ®) - BTene; '

© gbs | ©) o

ADGS17 . 30 - E



- 82,

83.

‘Write the given incidents in chronological order usihg the-éodes given below :

" (i) - Gandhi Irwin Pact.

(i) Bhagat Singh, Sukhdev and Rajaguru executed.
(i) Gandhi Irwin Pact endorsed in the congress.

@iv) Second round table conference. -

@ 0, @), @, @) S 0, ) ), G

© @O - O 0666

Qeraumid Hapesmer QarRas L Herar gild@amens vwauBsd sraaiflensiLBss:
® &nﬁ;ﬁ @reflér UILIBHL. |
(i) usshin, s&Cge, TrRGH FSSILLL .

(i) smpd @ieflen QUUBEEHDG sTEATHD UL,

- {@v) @remLmeug el L Goms mrrir,rr@.

@ @ 6, @6 C® - ), G, (), @)
© i), G), (), O o @) O, Gi), Gv), @

IAfter his return from Surat, V.0.C decided to celebrate whos'e. liberation in a grand

manner? o .
' (A)  Balagangadhar Tilak ; ' pf Bipin Chandra Pal

(©  Lalalajpat Rai " () Subramania Bharathi

-

&S mrr;_r,rrtu;.eﬁg;_ﬁg ST Qe au.e.8 wrmenw eflGperaans QpbreRTLINSE Qsremm.

SrworefllsHmHeTi?
@)  uiesksTsy Sosi ®) 99 spByund
(C) ereToRus FT D) &Lu;méwﬂuj unyd

- a1 ADGS/1T
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84._ The sum of the two number is 33 and their difference is 15, the smaller number is
@ 11 '

@ 7 L
o o S O 3

RO aansaiien s GAsrea 33, sieupdler Caupun® 15 aalid Siger Aflw ereir argy?
@ 7 . ® 1’
© 9 : D) 3

85. Pipe A can fill a tank in 45 hrs and pipe B can fill it in 30 hrs. Both the pipes are opened
' when the tank is empty. How soon will the tank be full?

(A) 12hrs (B) 14 hrs

© 16hrs 4 18 hrs

A erenp @;prru.méagj Asmigew 45 wefl CorgHand B eranp GRrureng) Qgrn_ulfmu.l 30 wesnfl -
Crrsdgib fleney Qsldpg). @@ Gymiseetud Apago Curg Agsm g srflwrs o_atmg aTafld
Qs geow AylLeausHE eraraiarey wef Crob @b

(A) 12 vefiCpgw ' B) 14 wefiCpyid

(Cy 16 mmﬂ@pmb L D) 18 wefiGHID

86. Find the odd man out.
10, 25, 45, 54, 60, 75, 80

7 54 o | ® 25

© 80 . D) 10

Qevauqpd g Qurmpsrsmns Csiey Aas.

10, 25, 45, 54, 60, 75, 80.

A) 54 _ B) 25
(€) 80 D) 10

 ADGS/17 | ‘ 32 o ‘ =



87.

. 88.

89.

If 63+25=16,12+18 =12 and 23+17 =13 then 54+22="
Kls_ . C® 17
© 1 . » ™ 20

63+25=16,12+18 =12 wpgb 23+17 =13 aafler 54 +22="?

4 13 o : @) 17

© 19 " @ 20

20 women can finish a piece of work in 16 days and,lé men can finish it in 15 days. What is

the ratio of the working capacities of a man and a woman?

@ 3:4 - 43 , .

(C) 5:3 S - ® 2:1

@m Caumaaw 20 Quaiser 16 pm_safigid 16 ep@madr 15 pn@aﬁgm W SEDTTEET. T OHIHILD
Quesnanfien CaumwwsHper ellflgionang ) : o
4 3:4 ' ® 4:3

© 53 I D  2:1
If 10% of A is equal to 12% of B then 15% of A is equal to —— — percent of B.
@A) 20% - 18%
© B% D) 8%
A-ér 10% eraniig B-ar 12% swonerg craflér A-ar 15% ey B-en — - spaigsihE
soLIGD. - . |
Q) 20% - o ®) 18%
©  15% | | . D) 8%
33 L ~ ADGSN7
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90.

91.

92.

7500 + (1250 +50) = ?

(A) 180 @( 7525

© 5120 . (@ 3200

7500+ (1250 +50) = ?

A 180 . B 7525
© 720 | . (D) 3200

If WORDSWORTH is written by VPQERXNSSI then DAFFODILS would be written as .,

(A) CBEGNEJMR : » CBEGNEHMR
(C) CBEGNEMOR (D) CBEEGNHMR

WORDSWORTH aréineng VPQERXNSSL, erar ergenés DAFFODILS g ercseungy erqggaomv?
(A) CBEGNEJMR ® CBEGNEHMR |
(C) CBEGNEMOR ' © (D) CBEEGNHMR

~

The next two letters in the letter sequence below are

MLNKOJ——

4 RH . | - ® Qs

© LT | B A rl

Qan@ésiu Garer s af@aded S0 Bran® awssisad Lrma?

MLNKOJ — —
#) RH - | ® Q5
e LT . (D P I

ADGS/7 . S 34
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93. The height 61" an equila_teral triangie 1s 10 cm. Its area is
100 '

@ —emd . (B 30cm?
(© 100cm? _ ?; cm?

FLOLES w&Caramgden 2. 10 Qg8 aaflé eiger LpiiLaTey

@ » 120 Qas® .  ® 30 Gaf
100 Qa5® B o 19 Qai5’
(&) , Dy J§

94. At which rate of simple interest, will the amount be twice in 20 years?

@ =% . P

© 666% | . D 333%%

Bmus mqpumaaetﬂm ;brrm Gs@jggm: Ggwws @@ ) §66ﬂ g flflgid cramaneuns

Boseb?
(A) 4% ' B) 5% N

(C)  6.66% N (D) 3.33%

95. A sum of Rs 1,600 gives a s1mple mtetest of Rs. 252 in 2 years and 4 months The rate of
" - interest per annum is

@) 10.-2-% o o ®) 12%%

V4 6%% ._ | : D) | 7%%

@. 1,600 & 2 qu(pLaiser 4 wngrisaiicd .ﬁml_é@ib §aﬂ§11|;t;]_»@. 252 erefieh gpan(® e eigd

3 ‘ ' val
: 10—% 2—%
@ 05% o ® 12
_ 3, o » 1,
© 6% - ™ 73
= 38 o . ADESNT
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96.

is an online diary used bo share one's views and 18 also used as a strong

- marketing tool

Banner

% Blogs

D)

Cyber space

E-commerce

emeuflen smigssman. LSiHg Q&trme’rmm mmgym angss ellanbur sqgeﬁlu.:rr&mm uu.latu@m

VY e E——pe
(A) eflenbugl uewems

® aooiube

O Qoanw Qaefl

D) Ben euemfisid

97. Whatis the name given to the act of gam.mg illegal entry to computer files through remote
terminals or mlcro computers?

y Hackmg

(C)
D)

De oodmg
Security Breach
Beating the system

Cauemo saflall Yaeatvd Doy per safial gpon geupran gjmg;eq sufiufled safiafl9en
Garliysmer UMTSSeIsETET Quu.m aTenan?

&)
®)
(©)
D)

ADGS/17

PSS
ehlwssd
UTGISTUL 2 enL 56

penpenen Crhsin 550
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98. - Chipko movement was launched for the p_rofection of -

(A) Wetlands (B Grasslands

y Forests ' - (D) Livestocks -

éluGa;rr @u.la;aaw @m@mm UNGISFLILISDHETS ng_fme;uuu_gl
A sgilL} Bleomisen : : (B) q@@ajaﬂsm
(C) ET{HEET . (D) sréperL

99.  The National commission on floods was set up by.the Government of India in the year

A 1956 - ) ® 1966

& 1976 | : D) 1986

Adw sirdermd Csliu Qeuerens ) awméguuf_l_ :g,«;m@
(A) 1956 | (B) 1966
©) 1976 - | (D) 1986

'100. Among the following, which century was the warmest oentury of the Ml]lenmum"
” 20tk century o ' (B) 21¢ century
(C) . 18t century - ' (D) 15tk century.
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Read the following instructions carefully before you begin to answer the questions.

10.
11.

12.
13.

*IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 10 minutes before commencement of the
examination.

This Question Booklet contains 100 questlons Prior to attempting to answer t.he candldates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question. Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.

You will also encode your Register Number, Subject Code, Question Booklet S1. No. etc. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), {C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles @ ®, © and (D against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one questlon the answer will be treated as wrong. e.g. If for any item, ® 8
the correct answer, you have to mark as follows : - '
O JON»)
You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
thw Questlon Booklet and the Answer Sheet out of the Exammatlon Hall during the examination.
2 : 2 S he 3 '

The sheet before the last page of the Question Booklet can be used for Rough Work.
In all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answers in the Question Booklet.

Failure to comply with any of the above instructions wﬂl render you liable to such acuon or penalty as
the Commission may decide at their discretion. :
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